*¢ VELJAN

VIXBB 1- B09-B11-1 R 00 - D 102 *
Series L Modifications
Mounting Port connections
1-SAEA
5_SAEB CODE S P1 & P2
. - SAE 12 1 1/16"
Camring for "P1" & "P2 00 | . SAE 4 bolt 12 UNF-2B
Volumetric displacement cm® /rev (in® /rev) o1 (UNC) 3/4" SAE 4 bolt
B02 = 5.8(0.35) (UNC)
B0o3 = 9.8(0.59) Mo 2" SAE 4 bolt 3/4" SAE 4 bolt
Bo4 = 12.8(0.78) (METRIC) (METRIC)
Bos = 15.9(0.97)
Bos = 19.8(1.21)
BO7 = 22.5(1.37)
BO8 = 24.9 (1.52)
Bo9 = 28.0(1.71) Seal class
B10 = 31.8(1.94) ] )
B11 = 34.9(2.13) 1- 81 (for mineral oil)
Bi2 = 41.0(2.50) 4 - S4 (for fire resistant fluids)
Bl4 = 450(279) 5 - S5 (for mineral oil and fire
resistant fluids)
Type of Shaft
1 - Keyed (Non SAE) Design letter
3 - Splined
Direction of rotation (view on shaft end) Porting combination
R - clockwise 00 - standard
L - counter-clockwise
00 01 02 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 P1 P1 P1 S - P1
—O— —3— —Eo— —=— —3— s —'— —E —o—
-=— ©9s | (©) |s§O) (O Dp, 'Q’ P2 s@ODP2| (TOVr2
S S
08 09 10 11 12 13 14 15
S-P1 P1 P1 P1 S-P1 P1 P1 P1
= —3— —o— —3— —5— —O— —E s =9
S S P2 : @
@D @D @) s =D KD
P2 P2 S-P2 P2 S
S: Suction port P1 & P2 : Pressure ports

OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (Input power p (KW) for one cartridge only)

Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
P":’s’;"e Series | Displacement Vp [ 5= 0 bar (0 psi) |p = 140 bar (2000 psi)|p = 210 bar (3000 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 210 bar (3000 psi)

in’ /rev [cm®/rev| 9pm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

Bo2 | 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 2.1 - -

BO3 | 0.59 9.8 388 | 147 2.9 11.9 - - 0.67 05 3.62 2.7 - -

Bo4 | 078 | 128 | 508 | 192 | 433 | 164 | 397 | 150 | 093 07 5.23 39 | 1006 | 75

Bos | 097 | 159 | 631 | 238 | 555 | 210 | 518 | 196 | 100 | 075 | 6.64 49 1.2 8.3

P1 B06 121 | 198 | 78 | 207 | 712 | 269 | 666 | 252 | 1.07 08 8.05 60 | 1234 | 9.2
e Bo7 | 137 | 225 | 892 | 337 | 817 | 309 | 780 | 295 | 1.20 0.9 9.05 67 | 1402 | 104
Bos | 152 | 249 | 989 | 374 | 915 | 346 | 878 | 332 | 1.34 10 | 1005 | 75 | 1569 | 117
P2 B09 171 | 280 | 1111 | 420 | 1037 | 392 | 1000 | 378 | 1.47 11 | 1194 | 89 | 2360 | 17.6
B10 | 194 | 318 | 1261 | 477 | 11.87 | 449 | 1151 | 435 16 1.2 13.0 9.7 260 | 19.6
B11 | 213 | 349 | 1385 | 523 | 13.09 | 495 | 1272 | 4841 1.7 1.3 140 | 105 | 280 | 210

B12 | 250 | 410 | 1627 | 615 | 1553 | 587 * * 1.8 14 | 1502 | 112 * *

B14 | 275 | 450 | 17.86 | 675 | 17.12 | 647 * *x 2.1 16 | 1542 | 115 *r *r

-- Not to use because internal leakage greater than 50 of theoretical flow.

* B12= 210 bar(3000 psi) Max.Int
** B14= 175 bar(2500 psi) Max.Int




HIGH PERFORMANCE VANE PUMP VTXBB

INTERNAL LEAKAGE (TYPICAL)

(1.6) 6
—— 24 cst

(135
P 10 cst
E_ P1-P2
e

(1) 4
E .
2 e
£ yd P1-P2
g 083 ya
8 e

e

— e
5 082 P
£ /
= /

0.3) 1

//
/o
///
0 50 100 150 210 240
(725) (1500) (2000) (3000) (3500

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50 of theoretical flow.

Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

-—--—--—n = 2500 rom
4 | n = 1800 rpm (24 cSt)
E n = 1200 rpm ’ll?
2
< =)
Qs z
@ Pi-P2 =
o T8
=2 T
S I I P1-P2 b
(] -
o ]
L P1. P2
0
35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

*¢ VELJAN

NOISE LEVEL ( TYPICAL)
VTXBB- B10-B09

70
N ‘
-
< Inlet pressure 0.9 bar abs
< Viscosity 32 cSt
Q & n = 1200 RPM —
- n = 1800 RPM
£ Lw= Lp + 8db (A) P
- 7
-
_- -
< w - ]
Py B =
°
-
2
2
Q
® 55 e ——
[]
4
-3
-
50
0 10 50 100 140 175 210 240
(145) (725) (1500) (2000) (2500)  (3000) (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(350) 1540
=
(300) 1335 ‘ I F

Shaft keyed N° 1

(250) 1100

(200) 900

(150) 660

(100) 440

(50) 222

600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs)



N eyl | 990 - - |SS'LOL/09° 1O} 66°€/00° 7 1€ ¢c'h | ¥'S8 | 9¢g€ G s ¥'6 | LEO0 | L2CL | SO oYl | ¥2'S |SPLL| £8'9 |caaXlA
49 ’

m -- -- CLE | Y0 | 0528/5528 LAY ge 860 | 668 | €5°¢€ 1'9 | ¥20 | CHL | ¥P'0 |290L]| 8L'Y | OEL | LH'G | +EEXLA

] ww | seyour | wuw | seyou ww sayoul ww |seyour | ww [seyour| ww |seyour| ww |seyour| wuw |seuour| ww |seuour| ww |seuour

=4} L [e[o]]]

> cao M 1do /A 4 9V SvY 144 eV (44 3

“ SNOISN3NIa

. (0011

‘bseey (3vs uou pakey)
I 8p0D yeys
\ ~

s

¥28°0/5.8'00

(¥5'v2)
XelN 9960
(0ze 2e/See ee)

2gax1A 1o} ajjoid

a0 = - —
\A\ /K& 1 Q L
m = _
B g NS
AN IR — IR
m zao 7% &+ = HE
o
M (z'89) (9'88)
-} 622 v ov .
o 2v 8v'e
av
w v
1] —
c 1 "eIp Jofepy
N a|bue ‘ssaid .08
yesy 1 d'p 2e/9k (:G¥XG'1)

g ageyr-| Ssel) (z0e) I 5PX90°0
M 1eys paulds sinjoau| 12
o € 8p0D Yeus
(@] _
LL = S
R ~ (8°1€)

GPXG' L | s

- 2l (€°09)

SYXS0°0 @

T (c'62) g a 0z ‘\
. ES -

G SLL NME
— (7' 1p) Slao
T o L

144




HIGH PERFORMANCE VANE PUMP VTXBB

Port Connection : 00

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

77.7)

1.688
(42.9)

*¢ VELJAN

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

22.0
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : 01
0.87 20.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)
Y@ 9| ] @ NI
© [N O~ o~
il 3 SIS =
|,
3/8.16 UNCX0.74 (19) dp. 3/8-16 UNCx0.74 (19) dp.
4HOLES 22,0 4 HOLES
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : MO
0.87 00.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

1.874

< B|s 6 X|@
~ SN o | N
3 S ==
i
M10x19 dp. M10x19 dp.
4 HOLES 2.0 4HOLES
(50.8)

M12x24 DEEP 4-HOLES




	Page 1
	Page 2
	Page 3
	Page 4

	Terug naar overzicht: 


